[image: https://encrypted-tbn0.gstatic.com/images?q=tbn:ANd9GcQIgZT9YuRFl2cLLfnNKYrqe8Oum5e1wBj-gS7jQgDhoQV-obyLIw] Addition within 20 using 10 framesCan you write the number sentence to match the 10 frame?
Remember to form your numbers correctly!
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Now have a go at answering these addition number sentences:12 + 2 =
10 + 8 =
13 + 3 =

15 + 2 =
11 + 8 = 
13 + 6 =









Can you solve this word problem and write your own number sentence?
[bookmark: _GoBack][image: ]There are 11 oranges and 4 bananas in the fruit basket. How many pieces of fruit altogether?
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